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Instructions :

i) All questions are compulsory: .
' s — P
i)  This question paper has &0 Parts ~Part-4 any pare .

' . e choice qun.. '
Part-A consists of 20 multiple € Questions of one mark each th ¢
a

iii)
we
have to be answered on OMR ABSYEI Sheet by garkening completely the
correct circle with blue or black ballpoing pen. _

iv) For Part-A read the question-wis€ Mstructiong ang mark your answer gn
the given OMR Answer Sheet only- Do not erase, cut or use whitener on

the OMR Answer Sheet after answering,

Marks of the questions are mentioned against them.

v)
Part-B consists of descriptivé typ€ questions of 50 marks.

vi)
viij . All the questions of Part-B are to be attempted all at a time.
viii) Start from the first question and go up to the last question. Do not waste
your time on the question you cannot solve.
@S - A
Part - A
(SgRrseda T )
' ( Multiple Choice Questions )
e T TEN 1 ¥ 20 wglwedy § | Pefie ye § A% F SR-SR
Yo It Ry T § | 3T ¥ G Rieed TR AT S0 THO RO I

T W 3AfHa K |
Question Nos. 1 to 20 are Multiple Choice Type. Four alternative answers
are given in each question. Select the correct alternatives out of them and

mark them in OMR Answer Sheet serially.
1. 'C' WS W S% P B 7
g MfEAT

(A) W S| (B)

1. Who is the father of ‘'C' language ?

Instruction :

James Gosling

(A) Steve Jobs B)
(C) Dennis Ritchie (D) Rasmus Lerdorf 1
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(A) int number; (B) float rate;

{C) int variable_count ; (D) int $main; , 1

Which of the following is not a yalid 'C' variable ?

(A} int number; (B) float rate;

(C)  int variable_count ; (D) int $main; :
'C' H Iteration ( ITERTR ) B R

(4) R (B) &

< 3. = (D) T aaft o 1
Which one is an exarﬁple of Iteration in 'C' ]anguaée ?

(A) for (B) while

(C} do...while (D) all of these | 1

4. 'C'H Tl AR 1 iRww 2

(A) Condition. ? expl : exp2 (B) Condition : expl ? exp2

(C) Condition ? expl < exp 2 (D) Condition < expl ? exp?2 1
4. A syntax for 'C' Ternary operator is -

(A) Condition ? expl : exp2 (B) Condition : expl ? exp2

(C) Condition ? expl < exp 2 (D) Condition < expl ? exp2 1
5. TH GaEH W) 4 $ Hiel @ ¢, Heen g

(A) UTH BEH (B) Ve HawN |
() Trltia wawm (D) wf* Ham 1
9. A function ﬁhich calls itself is called a
- (A)  Self function (B) Auto function-
(C) Recursive function (D)  Static function 1
40000/4031 . . [ Turn ove:
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6. T C vium w1 afsege T8 7

int. main .( )
~ { void show ()
{
printf ("HIDE");
} _.
" Show ( }f

return 0;
y oo
(A)  WIF Alege T (B) - HIDE -
(€) U AR . D) A

6. What is the output of the following C program ? |
int main () -

{ void show { )

{ .
printf ("HIDE");
: :
Show( ) ;
~return 0; .
} -
(A)  No output _ (B) HIDE
(C)  Compiler error (D)  None of these

7. PR CARAwmImmeEn? ?

int ary [10][ 5]

(A 1 (B) 2
- © s (D) 10
'7. What is the dimension of the following C array ?

intary [10][5]

A) 1 | - _ (B) 2
© 5. | o (D) 10
40000/4031
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g W LS W1
(a) -1%8 | B 0%
© 18 | | D) 29 E
8. An array index starts with |
@& -1 B) O
(C) 1 D) 2 _ 1
0. 'Cfife b § Y R e ) 3 fope - e P I foba e B 7
(A)  %c (B) %C
(C)  %s D)  %w o
9.  What is the format specifier used to print a string in 'C' print function ?
(B)  %c B)  %C
(C)  Y%s (D) %w 1
10. C {FR & "R 4 9dt %2 g -
(A) I8 =R % Al kR W Gufa B 8
| (B) T Wreer A by o gufed g @
(C) U8 HIgIE WA Tk H Fufed 8 @
(D) ¥ ¥ HIg AL 1
10. Choose a correct statement about C structure :
(A) It is stored on random free memory location
(B) It is stored in register memory location-
(C)  Itis stored in contiguous memmory location
(D) None of these 1
40000/4031 ) - . [ Turn over .
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11

11.

12.

12.

13.

13.

C BI3d TR Hifvd w1 ¥ fore I7anT 61 Iraen e 71 2 2.

(A) file

(C) FILE FP

(B)

(D)

FILE

filefo

What is the keyword used to declare a C file pointer ?

(A) file

(C) FILE FP

C IS 22T T THRK 71 3 ?

(A) e TER

(C) @ I fewrs swr 2w
What is a C FILE data type ?

(A) Structure only

(C) User defined data type only -

Al 1 qUf §7 &1 8 ?

(A) Artificially Intelligent
(C)  Artificially Intelligence
What is the full form of AT ?
(A) - Artificially Intelligent

(C) Artificially Intelligence
Al 1 STTASHs B 8 7

14.
(a) bt f&ea
(C) 7 Al
14. Who is the Inventor of Al?
(A) Geoffrey Hinton
(C) John McCarthy
40000/4031

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)
(D)

FILE

filefo

Sae AT
I § 13 el

Union only

None of these

Artificial Intelligence

Advanced Intelligence

Artificial Intelligence

Advanced Intelligence

LEE QSR
i fgs

Andrew HG

J urgen Schmidhuber
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5. CVV JU1 IS Fha 318w w01 2y 2 2
A 1 B) 2
< 3 - D) 4 1
15. How many letters ére there in the CVV security code ?
A) 1 _ (B) 2
(©) 3 | : (D) 4 1
16. UAV &I qU ¥q 1 8 ?
(A} Unarmed aircraft vehicle (B)] Unmanned aerial vehi-cle
(C) Unman-ned aeroplane vehicle (D) Unmanned aircraft vehicle 1
16. What is the full form of UAV ?
(A) Unarmed aircraft vehicle (B) Unmanned aerial vehicle
(C) Unmanned aeroplane vehicle (D) Unmanned aircraft vehicle 1
17. Trafafes § SH-a1 $-HTHE H1 IR FAT 8 7
(A) eI EY Y SEE & (B) SHTEH HE
() e i foshl | (D) T & ot _ 1
17. Which of the -followin_g describes e-commerce ?
(A)  Doing business electronically
(B) Doipg business
(C) Sales of goods
.(D] All of these | . ' 1
'40000/4031 o ' [ Turn over
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- 18. e-Bay, Amazon.com e amie | g fm % !

(A) B2B (B) B2C

(C) <C2B | (D) c2c 1
18. Which segment do e-Bay, Amazon.com belong to ?

(A)  B2B (B) B2C

(C) 2B | (D) cac 1

19 mmmﬁﬁﬁﬁ%ﬂ%ﬁmﬁmmﬁwﬁ
TIF=IRE F 1 71 77 2 2

&) SR ®) d-wim
C) - TG YT T D) RPwPEsmTEE 1

19. What is the name for direct computer to computer transfer of transaction

information contained in standard business documents ?
(A)  Internet commerce https://www.upboardonline.com

(B) e-comimerce

(C) Transaction information transfer

(D)  Electronic data interchange .1
20. TH 37 gt & foreft @ ot @iem it wfa wEem @
| (a) =i (B) @i

(c) =Rk : . (D) ¥ 8 % T | 1
20. Finding an element in a data list is calied

(A) Searching (B) Sorting

(C)  Merging | (D) None of these 1
40000/4031
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part - B

{aﬂ%mgz'ﬂﬁﬂmﬂ)

( Very Short Apswer Type Questions )

e 3 i e AR -

Answer, in brief, the following questions :

1.

S‘.n-b

N o 0w

© % ® N

o.

¢ A ST R BA § 7

. What are variables in 'C’' ?

5l & YR ¥ SR F T fafe |

Write the names of any two types of operators.

CHFERE A F e frm g mmam e ¢

Which keyword is used to give Input in 'C' ?
*C‘ﬁ 3T BA-HTRE ?

What are the 3 loops in 'C' language ?
CHRFF TR F B E 7

How many types of Array are there in 'C' ?

 EEE R TR E 7

What is pointer ?

IR AEAE 7

What is structure ?

Al 1 79 famoa fafle |
Write the main feature of Al

Sefersie Wi B € 7

What is an Intelligent agent ?

10. ém%wﬁﬁﬂl

10. Write the types of e-commerce.

40000/4031

https:'waw.upboardonline.com

836

10 x 1 =10

[ Turn over



836 10
(g 3

( Short Answer TYPe Questions )
= % I E :

Answer the following :

11. (%) 'C’ v  sift Redd 71 R & 7
(@) ufdn @ 7w awgR # 7
() ﬂﬁwmﬂ?-ﬁﬁﬁ?mﬁﬁq|
() o Eefem & ana 71 wer € 7
(¥) arer oy 5w & 7
11. (a)

Sx2=1g

What are jumping statements in 'C' language ?
(b) What do you understand by searching ?

(c) What are logical operators ? Give €xamples.

(d} What do you mean by file handling ?

(e) What is cyber crime ?

w4 w1 & It AR

Answer all the questions : Sx2=10
12. (%) 3-matw ®ndan 2 7 |
(@) ¥ Row sovm 1 sy 2 -
() @#%ﬁa‘hﬁwmﬂ?ﬁ—ﬁﬁm%? —
(=) A= vfonfya iR |
(¥) @Wmﬁm%;
12, (a) What is e-
(b)
(<)
(d)

Governance ?

What type of crime is hacking ?
Where is drone technology Used 7
Define Al

()

Define entry control loop,
40000/403]
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ﬁﬂ%maﬁq H

Answer the fOIlowing . 3 x 4= 12

13. (ﬁ")qﬁ”ﬁ@m%?ag%mm@mg 2 S WhR 1 aferH T
Q|

(@)g'm“‘@m%?ugﬁmmmam%?mwwﬁwaﬂh
Hifr |

() VTSR ATqY T4 gy 2 ? TE Ry SR T AN & 7 Pl o SRR R
Y B I Hifw |

13. (a) What is Searc:hing ? How many types of Searching are there ? Explaln

each type of searching in brief,

(b) What is e-commerce ? Wﬂte all the types of e-commerce. Explain each

type of e-commerce in brief.
(c) What is cyber crime ? How many types of cyber crime are there ?
- Describe any three types of cyber crime.
(el 3wl e )
( Long Answer Type Questions )
14. d-yamr & e =) g it | 78 fFas vHR &1 far B 7 6 9 TR &
FHTqteX &t IgTe Wiga AT Y |- 8

YA

Al 991 B & 7 IS & e § Fh I S e | sus Rl s
! fafam |
e

R 7 whonfia AR | 3 T B ITE Ffed T H |
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How -
ors in 'C Janguag®: ma.ny types of them are there 5
14, Define opera :
erators Wwith €Xample,

Explain any three types of op :

OR

What is Al ? Explain its utility 1? today's context. Write its various

applications.

OR

Define array. Explain its types with examples.
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